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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Programme 6th Semester Examination, 2021

HMDGDSE03T-HUMAN DEVELOPMENT (DSE2)

LIFE SPAN DEVELOPMENT I
Time Allotted: 2 Hours Full Marks: 40

The figures in the margin indicate full marks. aNfer T F0E TN *2"7( I et F
Candidates should answer in their own words AT TS ST I AT TN
and adhere to the word limit as practicable. e PEE

1. Answer any five questions from the following: 2x5=10

fsERe @-ciet 256 2vis Tex wies

(a) What do you mean by Human Development?
< et ge10e F @i ¢
(b) What is birth?
A P T 2
(c) Define conception.
FCHEICIR TG 7S |
(d) What is Reflex?
e i = 2
(e) Write any three influencing factors during pregnancy.
FERER - FoA(G @eRE THimla 771 @Tedl |
(f) What is Growth?
9 I 0T 9
(g) What is Development?
R IC 0T 9

2. Answer any two questions from the following: 5%x2=10
fafeiie @-wie 76 elvas Ted wies
(a) What are the characteristics of neonate?
SrieTe MR (g e e sl
(b) Write about the types of birth.
RS AFICOR = (=TT

(c) Mention the physical changes during infancy.
IR *RfRS AfRe Al Srae @i
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3. Answer any two questions from the following:
fasfeie @-ie 76 eless Ted mies

(a) Write down the importance of play during infancy.
TR (LTl et ferfoi e
(b) Write down cognitive development during early childhood.
A= AT Qe Ke! o se
(c) Discuss the role of peers in social development during middle childhood.

SRR &S RFIHR CFCT IHRT IGIHRA SR 1 S|

10x2 =20

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp to
their own respective colleges on the same day / date of examination within 1 hour after end
of exam. University / College authorities will not be held responsible for wrong submission

(at in proper address). Students are strongly advised not to submit multiple copies of the
same answer Script.
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